A COMBINATORIC PROOF AND GENERALIZATION OF FERGUSON'S FORMULA FOR *k*-GENERALIZED FIBONACCI NUMBERS

David Kessler

Department of Physics, Bar-Ilan University, Ramat Gan 52900, Israel e-mail: kessler@dave.ph.biu.ac.il

Jeremy Schiff

Department of Mathematics, Bar-Ilan University, Ramat Gan 52900, Israel e-mail: schiff@math.biu.ac.il (Submitted January 2002 - Final Revision July 2002)

1. INTRODUCTION

Various generalizations of the Fibonacci numbers have been proposed, studied and applied over the years (see [5] for a brief list). Probably the best known are the k-generalized Fibonacci numbers $F_n^{(k)}$ (also known as the k-fold Fibonacci, k-th order Fibonacci, k-Fibonacci or polynacci numbers), satisfying

$$F_n^{(k)} = F_{n-1}^{(k)} + F_{n-2}^{(k)} + \ldots + F_{n-k}^{(k)} , \qquad n \ge k ,$$

$$F_n^{(k)} = 0 , \qquad 0 \le n \le k - 2 ,$$

$$F_{k-1}^{(k)} = 1 .$$

An exhaustive bibliography of papers on the k-generalized Fibonacci numbers would cover pages, so we just give a few references. The paper of Miles [9] seems to be the oldest wellknown paper on the subject, though Knuth [6] (section 5.4.2) cites a work of Schlegel [13] dating from 1894. Numerous interesting results can be found in the pages of the Fibonacci Quarterly, see for example [2, 3, 7]. There are significant applications in computer science [6] and probability theory [11, 4, 8], the latter of which will be important for our purposes. Also much is known about "weighted" k-generalized Fibonacci numbers, with different coefficients in the recursion relation, see for example[1].

In this paper we look at a particular case of weighted k-generalized Fibonacci numbers, which we call the (k, p)-generalized Fibonacci numbers. We define these by

$$F_n^{(k,p)} = \frac{1-p}{p} \left(F_{n-1}^{(k,p)} + F_{n-2}^{(k,p)} + \ldots + F_{n-k}^{(k,p)} \right) , \qquad n \ge k , \qquad (1)$$

$$F_n^{(k,p)} = 0$$
, $0 \le n \le k - 2$, (2)

$$F_{k-1}^{(k,p)} = \frac{p}{1-p} \ . \tag{3}$$

Here $k \ge 2$ is an integer and p is a real with $0 . For <math>p = \frac{1}{2}$ we recover the k-generalized Fibonacci numbers. The reader will have no trouble checking that

A COMBINATORIC PROOF AND GENERALIZATION OF FERGUSON'S FORMULA ...

$$F_{k+n}^{(k,p)} = p^{-n} , \qquad n = 0, 1, \dots k - 1 .$$
 (4)

For fixed k, p we have a representation

$$F_n^{(k,p)} = \sum_{i=1}^k C_i \lambda_i^n , \qquad (5)$$

where $\lambda_1, \ldots, \lambda_k$ are the roots (presumed distinct) of

$$\lambda^{k} = \frac{1-p}{p} (\lambda^{k-1} + \lambda^{k-2} + \ldots + \lambda + 1) ,$$

and C_1, \ldots, C_k are chosen to satisfy the initial conditions (2)-(3). The behavior of the λ_i for general p and sufficiently large k is similar to the behavior for $p = \frac{1}{2}$ described in [9]: there is a real root, which we will call λ_1 , between $\lambda = 1$ and $\lambda = \frac{1}{p}$, and the remaining roots are all inside the circle $|\lambda| = 1$. The contribution from λ_1 dominates the sum (5), and in particular $\lim_{n\to\infty} \left(F_{n+1}^{(k,p)} / F_n^{(k,p)} \right) = \lambda_1$. As k increases, λ_1 converges rapidly to $\frac{1}{p}$.

The focus of this paper will be on an interesting formula for the $F_n^{(k,p)}$, very different from the Binet-type representation (5). In the case of the standard k-generalized Fibonacci numbers $(p = \frac{1}{2})$, and in particular in the case of the standard Fibonacci numbers $(p = \frac{1}{2}, k = 2)$, our formula reduces to an expression found by Ferguson [2]. Ferguson proved his result using generating functions; we offer a combinatoric proof, which highlights the importance of the (k, p)-generalized Fibonacci numbers in success run problems. The combinatoric proof nicely explains why $F_n^{(k,p)}$ depends on the greatest integer not exceeding (n - k + 1)/(k + 1). This integer is simply the maximum possible number of distinct runs of k successes in a sequence of n - k trials.

Notation: Let H(x) denote the Heaviside function defined by

$$H(x) = \begin{cases} 1 & x \ge 0\\ 0 & x < 0 \end{cases}.$$

Theorem: For $n \ge k$

$$F_n^{(k,p)} = \sum_{r=0}^{\left\lfloor \frac{n-k+1}{k+1} \right\rfloor} (-1)^r p^{k(r+1)-n} (1-p)^{r-1} \left[(1-p) \binom{n-k(r+1)}{r} + \binom{n-k(r+1)}{r-1} \right] .$$
(6)

Here we understand that for any non-negative integer N, $\binom{N}{-1} = 0$, and for any real x, $\lfloor x \rfloor$ denotes the largest integer not exceeding x.

Proof: Let $P_n^{(k,p)}$ denote the probability that there is at least one run of at least k successes in a sequence of n identical Bernoulli trials, each having probability p of success. The possible outcomes of the trials can be partitioned as follows: either the first trial results in failure, or the first trial results in success and the second in failure, or the first two in success

and the third in failure, ..., or the first k - 1 result in success and the kth in failure, or the first k all result in success. Thus, using the law of total probability we have

$$P_n^{(k,p)} = q(P_{n-1}^{(k,p)} + pP_{n-2}^{(k,p)} + p^2P_{n-3}^{(k,p)} + \dots + p^{k-1}P_{n-k}^{(k,p)}) + p^k , \qquad n \ge k , \qquad (7)$$

where we have written q = 1 - p. The initial conditions for this recursion are $P_n^{(k,p)} = 0$, $0 \le n \le k - 1$. If we write $P_n^{(k,p)} = 1 - p^n R_n^{(k,p)}$ we find

$$R_n^{(k,p)} = \frac{q}{p} \left(R_{n-1}^{(k,p)} + R_{n-2}^{(k,p)} + \ldots + R_{n-k}^{(k,p)} \right) , \qquad n \ge k ,$$

with initial conditions $R_n^{(k,p)} = p^{-n}$, $0 \le n \le k-1$. Comparing with (1) and (4) we deduce that $R_n^{(k,p)} = F_{k+n}^{(k,p)}$, or

$$F_n^{(k,p)} = p^{k-n} (1 - P_{n-k}^{(k,p)}) , \qquad n \ge k .$$
(8)

We now consider computing $P_n^{(k,p)}$ using the inclusion-exclusion principle. Let A_i , $i = 1, 2, \ldots, n-k+1$, denote the event that there is a minimal run of k successes starting on the *i*th trial. By "minimal" we mean that there is a run of precisely k successes starting on the *i*th trial. Thus for $i = 1, 2, \ldots, n-k$, being in A_i means that trials $i, i+1, \ldots, i+k-1$ result in success, but trial i+k results in failure (so in particular, the event that the first k+1 trials result in success but trial k+2 results in failure is contained in A_2 but not A_1). For i = n - k + 1, being in A_i means just that the last k trials (trials $n - k + 1, n - k + 2, \ldots, n$) result in success. With this definition of the events A_i , $P_n^{(k,p)}$ is simply the probability of their union. So applying the inclusion-exclusion principle we have

$$P_n^{(k,p)} = \sum_i \mathbf{P}(A_i) - \sum_{i < j} \mathbf{P}(A_i \cap A_j) + \sum_{i < j < l} \mathbf{P}(A_i \cap A_j \cap A_l) + \dots + (-1)^{r-1} \sum_{i_1 < i_2 < \dots < i_r} \mathbf{P}(A_{i_1} \cap A_{i_2} \cap \dots \cap A_{i_r}) + \dots$$

Computing the first term is straightforward. We have

$$\mathbf{P}(A_i) = \begin{cases} p^k q & 1 \le i \le n-k \\ p^k & i = n-k+1 \end{cases},$$

and so

$$\sum_{i} \mathbf{P}(A_i) = \left(p^k q(n-k) + p^k \right) H(n-k) .$$
(9)

The factor H(n-k) here reflects the fact that unless $n \ge k$ we cannot have a success run. Moving to the second term, we can only have a pair of success runs if $n \ge 2k + 1$. Because of

our choice of A_i as the event that there is a minimal success run starting at the *i*th trial, A_i and A_j are mutually exclusive if $|j - i| \le k$, and in full generality we have

$$\mathbf{P}(A_i \cap A_j) = \begin{cases} 0 & |j-i| \le n \\ (p^k q)^2 & 1 \le i, \ j > i+k, \ j < n-k+1 \\ p^{2k} q & 1 \le i, \ j > i+k, \ j = n-k+1 \end{cases}$$

Thus

$$\sum_{i < j} \mathbf{P}(A_i \cap A_j) = \sum_{i=1}^{n-2k-1} \sum_{j=i+k+1}^{n-k} p^{2k} q^2 + \sum_{i=1}^{n-2k} p^{2k} q$$
$$= \left(\frac{1}{2} p^{2k} q^2 (n-2k)(n-2k-1) + p^{2k} q(n-2k)\right) H(n-2k-1) \ .$$

The third term in the inclusion–exclusion principle is

$$\begin{split} \sum_{i < j < l} \mathbf{P}(A_i \cap A_j \cap A_l) &= \sum_{i=1}^{n-3k-2} \sum_{j=i+k+1}^{n-2k-1} \sum_{l=j+k+1}^{n-k} p^{3k} q^3 + \sum_{i=1}^{n-3k-1} \sum_{j=i+k+1}^{n-2k} p^{3k} q^2 \\ &= \left(\frac{1}{6} p^{3k} q^3 (n-3k)(n-3k-1)(n-3k-2) \right. \\ &+ \frac{1}{2} p^{3k} q^2 (n-3k)(n-3k-1) \right) H(n-3k-2) \end{split}$$

A pattern is clearly emerging. For arbitrary $r\geq 1$ we have

$$\sum_{i_1 < i_2 < \dots < i_r} \mathbf{P}(A_{i_1} \cap A_{i_2} \cap \dots \cap A_{i_r}) = \sum_{i_1=1}^{n+1-r(k+1)} \sum_{i_2=i_1+(k+1)}^{n+1-(r-1)(k+1)} \dots \sum_{i_r=i_{r-1}+(k+1)}^{(n+1)-(k+1)} p^{rk}q^r + \sum_{i_1=1}^{n+2-r(k+1)} \sum_{i_2=i_1+(k+1)}^{n+2-(r-1)(k+1)} \dots \sum_{i_{r-1}=i_{r-2}+(k+1)}^{n+2-2(k+1)} p^{rk}q^{r-1} .$$

Lemma: For positive integers N, r, K with N > rK

$$\sum_{i_1=1}^{N-rK} \sum_{i_2=i_1+K}^{N-(r-1)K} \dots \sum_{i_r=i_{r-1}+K}^{N-K} 1 = \binom{N-rK+r-1}{r} .$$
(10)

Proof: We consider arrangements of N - 1 objects with the constraints that there are K objects of type 1 that appear in succession in a prescribed order, followed (not necessarily immediately) by K objects of type 2 that appear in succession in a prescribed order, followed in turn by K objects of type 3 that appear in succession in a prescribed order, and so on, up to K objects of type r (that appear in succession in a prescribed order). Furthermore, the remaining N - 1 - Kr objects are identical. The left hand side of (10) counts the number of such arrangements by counting the ways to place the first object of type 1, the first object of type 2 etc. A more sensible way to count, however, is to notice that we can treat each of the blocks of objects of types $1, 2, \ldots, r$ as metaobjects, and then we are counting arrangements of just N - 1 - r(K - 1) objects in which r have prescribed order and the remaining N - 1 - Kr are identical. The number of such arrangements is clearly just the number of ways to chose r from N - rK + r - 1.

Returning now to the proof of the main theorem, using the lemma we can write down all the terms in the inclusion–exclusion principle, and we have

$$P_n^{(k,p)} = \sum_{r=1}^{\infty} (-1)^{r-1} \left[\binom{n-rk}{r} p^{rk} q^r + \binom{n-rk}{r-1} p^{rk} q^{r-1} \right] H\left((n+1) - r(k+1) \right) \; .$$

The Heaviside functions restrict the sum to be over a finite range, and thus we reach the final result

$$P_n^{(k,p)} = \sum_{r=1}^{\lfloor \frac{n+1}{k+1} \rfloor} (-1)^{r-1} p^{rk} (1-p)^{r-1} \left[(1-p) \binom{n-rk}{r} + \binom{n-rk}{r-1} \right] .$$
(11)

Using this in (8) we obtain the result in the theorem. • Corollary 1: [2] For $n \ge k$

$$F_n^{(k)} = \sum_{r=0}^{\left\lfloor \frac{n-k+1}{k+1} \right\rfloor} (-1)^r 2^{n+1-kr-k-r} \left[\frac{1}{2} \binom{n-k(r+1)}{r} + \binom{n-k(r+1)}{r-1} \right] .$$
(12)

Corollary 2: [2] For $n \ge 2$

$$F_n = \sum_{r=0}^{\left\lfloor \frac{n-1}{3} \right\rfloor} (-1)^r 2^{n-3r-1} \left[\frac{1}{2} \binom{n-2r-2}{r} + \binom{n-2r-2}{r-1} \right] .$$
(13)

Corollary 3: Define

$$\Sigma_N^{(k,p)} = \sum_{r=0}^{\left\lfloor \frac{N}{k+1} \right\rfloor} {\binom{N-kr}{r}} \left(\frac{1}{p}\right)^{N-kr-r} \left(\frac{p-1}{p}\right)^r \; .$$

(This is the sum of terms in a diagonal in a generalization of Pascal's triangle, see [12].) Then

$$F_n^{(k,p)} = p\left(\Sigma_{n-k+1}^{(k,p)} - \Sigma_{n-2k}^{(k,p)}\right) .$$
(14)

(The proof of this is an elementary manipulation of binomial coefficients.) **Comment 1**: It is well-known that

$$F_n = \sum_{r=0}^{\left\lfloor \frac{n-1}{2} \right\rfloor} \binom{n-1-r}{r} ,$$

i.e. that the standard Fibonacci numbers can be expressed as a diagonal sum of Pascal's triangle. In (14) we see that for any k, the k-generalized Fibonacci numbers can be expressed as the difference of two diagonal sums of a generalized Pascal's triangle. In [12] it is shown that the $\Sigma_n^{(k,p)}$ obey the recursion relation

$$\Sigma_n^{(k,p)} = \frac{1}{p} \Sigma_{n-1}^{(k,p)} + \frac{p-1}{p} \Sigma_{n-k-1}^{(k,p)} .$$

The roots of the characteristic polynomial of this recursion are exactly those of the recursion (1), plus the root 1. Thus we should be able to write the $F_n^{(k,p)}$ as a linear combination of the $\Sigma_n^{(k,p)}$. The simplicity of (14), however, is remarkable.

Comment 2: There is an interesting way to generate the result (11) from the recursion relation (7). We write (7) in the form

$$P_n^{(k,p)} = q \sum_{i=1}^k p^{i-1} P_{n-i}^{(k,p)} + p^k , \ n \ge k , \qquad P_n^{(k,p)} = 0 , \ 0 \le n < k .$$
(15)

Consider the modified recursion

$$\overline{P_n^{(k,p)}} = q \sum_{i=1}^{\infty} p^{i-1} \overline{P_{n-i}^{(k,p)}} + p^k , \ n \ge k , \qquad \overline{P_n^{(k,p)}} = 0 , \ n < k ,$$
(16)

which determines quantities $\overline{P_n^{(k,p)}}$, where now *n* runs over all the integers, even negative. We can regard the $\overline{P_n^{(k,p)}}$ as a "first approximation" to the $P_n^{(k,p)}$. Remarkably (16) has the exact solution

$$\overline{P_n^{(k,p)}} = p^k (1 + q(n-k)) H(n-k) ,$$

as can be verified by a tedious calculation. This is precisely the first term (9) in the inclusion -exclusion principle! We continue by writing a recursion for the differences $Q_n^{(k,p)} = P_n^{(k,p)} - \overline{P_n^{(k,p)}}$. Subtracting (16) from (15) gives

$$Q_{n}^{(k,p)} = q \sum_{i=1}^{k} p^{i-1} Q_{n-i}^{(k,p)} - q \sum_{i=k+1}^{\infty} p^{i-1} \overline{P_{n-i}^{(k,p)}}$$
$$= q \sum_{i=1}^{k} p^{i-1} Q_{n-i}^{(k,p)} - q \sum_{i=k+1}^{n-k} p^{i+k-1} \left(1 + q(n-i-k)\right)$$
$$= q \sum_{i=1}^{k} p^{i-1} Q_{n-i}^{(k,p)} - q(n-2k) p^{2k} H(n-2k-1) , \quad n \ge k .$$
(17)

This recursion should be solved with initial conditions $Q_n^{(k,p)} = 0$, $0 \le n < k$, and in fact we clearly have $Q_n^{(k,p)} = 0$ for $0 \le n < 2k + 1$. Again, we "approximate" (17) with the recursion

$$\overline{Q_n^{(k,p)}} = q \sum_{i=1}^{\infty} p^{i-1} \overline{Q_{n-i}^{(k,p)}} - q(n-2k) p^{2k} , \quad n \ge 2k+1 ,$$
(18)

with initial conditions $\overline{Q_n^{(k,p)}} = 0$, n < 2k + 1. This recursion can also be solved exactly, to give

$$\overline{Q_n^{(k,p)}} = -p^{2k}q(n-2k)\left(1 + \frac{1}{2}q(n-2k-1)\right)H(n-2k-1) ,$$

which is the second term in the inclusion–exclusion formula (with the correct sign). This procedure can be continued. There may be some relation with ∞ -generalized Fibonacci numbers [10].

ACKNOWLEDGMENTS

D.K. and J.S. both acknowledge support of the Israel National Science Foundation.

REFERENCES

- F. Dubeau, W. Motta, M. Rachidi and O. Saeki. "On Weighted r-Generalized Fibonacci Sequences." The Fibonacci Quarterly 35 (1997): 102-110.
- [2] D.E. Ferguson. "An Expression for Generalized Fibonacci Numbers." *The Fibonacci Quarterly* **4** (1966): 270-273.
- [3] H. Gabai. "Generalized Fibonacci k-Sequences." The Fibonacci Quarterly 8 (1970): 31-38.
- [4] A.P. Godbole. "Specific Formulae for Some Success Run Distributions." Statist. Prob. Lett. 10 (1990): 119-124.
- [5] V.C. Harris and C.C. Styles. "A Generalization of Fibonacci Numbers." *The Fibonacci Quarterly* **2** (1964): 277-289.

- [6] D. Knuth. The Art of Computer Programming. Volume 3. Sorting and Searching. Addision Wesley (1973).
- [7] G.-Y. Lee, S.-G. Lee, J.-S. Kim and H.-K. Shin. "The Binet Formula and Representations of k-Generalized Fibonacci Numbers." *The Fibonacci Quarterly* **39** (2001): 158-164.
- [8] F.-H. Lin, W. Kuo and F. Hwang. "Structure Importance of Consecutive-k-out-of-n Systems." Op.Res.Lett. 25 (1999): 101-107.
- [9] E.P. Miles, Jr. "Generalized Fibonacci Numbers and Associated Matrices." Amer. Math. Monthly 67 (1960): 745-752.
- [10] W. Motta, M. Rachidi and O. Saeki. "On ∞-Generalized Fibonacci Sequences." The Fibonacci Quarterly **37** (1999): 223-232.
- [11] A.N. Philippou and A.A. Muwafi. "Waiting for the Kth Consecutive Success and the Fibonacci Sequence of Order K." The Fibonacci Quarterly **20** (1982): 28-32.
- [12] J.A. Raab. "A Generalization of the Connection Between the Fibonacci Sequence and Pascal's Triangle." The Fibonacci Quarterly 2 (1963): 21-31.
- [13] V. Schlegel. "El Progresso." Matematico 4 (1894): 173-174.

AMS Classification Numbers: 11B39, 60C05

\mathbf{X} \mathbf{X} \mathbf{X}